FaiRTER (WERETH - fRISHET - FZET - 72Dt - i - FR3Rm - (ERET (168L=) ]

e 10 : 00
_ J— RIS - BREAKE N
B s IERATHEE3-3-11 AR 48, 2Bk 5700
) |- reom BT = 2t QR i i 1330
= JEB&TTATIH915-49 = $#31r’A 15 30
e 4 14 00
: AT TR REREIRT -
3 [mrmEes e 6.9.12.28 ~
BRATHAAT 68258 SRS A 16700
N REEEIRE 10 : 00
4 s llEE%ﬁT”j(% z= 354@ —
4 IERBHAT BEF QEE%T—EEXEW—Z% ,@;%}? 5.7.10.28 .
T EEMRER 12:00
5 ‘L— 3 iEE B 14 00
BBET | 1 |54 70— KL —Y3iaE gl 2L~ 3 TS ReAEia: S4EIEE ~
. . PR IR ESEHR 1706 12BICIRYSEERE | 16100
. S 10 : 00
e -5 ik B8 N
T | 1 [1—77 0 i rMEE Ay AR e T
o EODBIEEEL R 10200
rOO® | 1 |HEmse - AEEIERE AR 1 ER ~
1 [ RmRA I 1k
2 | RS g REEER 2h nv
AR 1090 AR EPES 1= 12700
3 | ERAREC Qe .
T —
- g FRIE< 135 2R Gl -
4 |RE< Eo =R AR AN EAET99 BRRE #3XRE 1730
. . RRAIRT: 121 00
- RIFSIRAL AL Rt > 5 — i
5 |REPEEALAS: f B CE 4 ~
- REREIRE &5 13: 00
6 [MEEiAE FTE J2Y PR AR BINEE ~
. ARARTINEE290-10 NEERT: 4.8, 15 15530
S+ Ry 4 13: 00
s HHESY R 2] .
1 [r%5yrTp23 g ! eI 40 ~
R HT4 - 5.7.10. 28 151 00
R 4 13130
_ G . '7_7705-&‘3_3"0)7'( =K =Y. ~
2 |2 7707#3_3‘0)7'( %ﬁl—_ﬁmmﬁm$¥§3—|9 ﬁ%’%*ﬁu')): %4AHEE )
5.8.11. 23 15 : 30
SR, i 4 10 00
ERET | 1 [Ty RN 2ERE J A LR AR sE4EEE ~
PR 1022 N 5.8.11. 23 121 00







